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Attempt any four questions in all. 

All questions carry equal marks. 

िकÛहीं चार प्रæनɉ के उƣर दीिजये।  

सभी प्रæनɉ के अंक समान हɇ।  

1. The President of Riceland is very fond of rice and hence has given the license to produce 
rice only to her own nephew, Mr. Brown. Even the international trade in rice is not allowed. 
Following is the demand that Mr. Brown faces for rice: D=10-P. He faces a total cost, given 
by C = 3+Q+0.5Q2. People of Riceland were revolting against this obsession for rice for 
their President, which, one day, eventually resulted in opening up of trade in rice, at the 
competitive world price level of 3 $. However, the obsession of rice for the President forced 
her to limit the amount of rice traded in the market to one unit, and she gave the license to 
trade to Mr. Brown only. Discuss the pattern of trade in rice for Riceland under free trade 
and restricted trade situations. Compare the profits/losses of Mr. Brown under the 
following four conditions and which will be the best scenario that he would like the 
President of Riceland to go for: (a) No trade situation; (b) Free trade situation; (c) 
Restricted trade, when from Riceland, only Mr. Brown can trade in the international 
market; (d) Tariff that will leave the quantity imported the same as under quota limit of 
one unit? If the President of Riceland is more concerned about national welfare, which of 
the above four situations she would choose? 

राइसलɇड के राçट्रपित चावल के बहुत शौकीन हɇ और इसिलए उÛहɉने केवल अपने ही भतीजे, Įी ब्राउन 
को चावल का उ×पादन करने का लाइसɅस िदया है। यहां तक िक चावल मɅ अंतरार्çट्रीय åयापार की भी 
अनुमित नहीं है। Įी ब्राउन के समक्ष चावल के िलए िनàनिलिखत मांग है: D=10-P। उनके िलए कुल 
लागत C = 3+Q+0.5Q2 ɮवारा दी गयी है। राइसलɇड के लोग अपने राçट्रपित के िलए चावल के इस 
जुनून के िखलाफ िवद्रोह कर रहे थे, िजसके पिरणामèवǾप, एक िदन, अंततः चावल का åयापार $ 3 के 



प्रितèपधीर् िवæव èतर पर खोला गया। हालांिक, राçट्रपित के िलए चावल के जुनून ने उÛहɅ बाजार मɅ 
åयापार िकए जाने वाले चावल की मात्रा को एक इकाई तक सीिमत करन ेके िलए मजबूर िकया, और 
उÛहɉने केवल Įी ब्राउन को åयापार करने का लाइसɅस िदया। मुक्त åयापार और प्रितबंिधत åयापार 
िèथितयɉ के तहत राइसलɇड के िलए चावल åयापार के पैटनर् पर चचार् करɅ। िनàनिलिखत चार शतɟ के 
तहत Įी ब्राउन के लाभ / हािन की तुलना करɅ और यह बताए िक वह सबसे अÍछा पिरǺæय क्या होगा 
िजसको वह राइसलɇड के राçट्रपित के िलए पसंद करेगा: (a) कोई åयापार की िèथित नहीं; (b) मुक्त 
åयापार की िèथित; (c) प्रितबंिधत åयापार, जब राइसलɇड से, केवल Įी ब्राउन अंतरार्çट्रीय बाजार मɅ 
åयापार कर सकते हɇ; (d) वह टैिरफ िजसके अंतगर्त आयात की गई मात्रा कोटा सीमा के तहत एक 
यूिनट के समान हो? यिद राइसलɇड के राçट्रपित राçट्रीय कãयाण के बारे मɅ अिधक िचिंतत हɇ, तो वह 
उपरोक्त चार िèथितयɉ मɅ से िकसका चयन करɅगे? 

2. (a) Two countries A and B produce five commodities. Labour is the only factor of 
production. The unit labour requirements for each of the five goods in the two countries is 
given below:  

Commodities Unit labour requirement in 
Country A 

Unit labour requirement in 
Country B 

Apple  10 8 
Wheat 2 20 
Cloth 5 15 
Dates 3 24 
Cement  5 10 

The relative wage in Country A is five times that of Country B. Determine the pattern of 
trade between the two countries in the absence of trade costs. If trade costs of 100 percent 
are added to wheat and to cloth how does the trade pattern change? 

(b) Country X, which is a new entrant in the smartphone market, is planning to launch its new 
smartphone in the international market. However, it has a threat that Country Y (which is 
an incumbent) might launch a similar smartphone and can capture the international market. 
Following matrix shows the payoffs of the two countries for launching the smartphone. 
What is the amount of subsidy that Country X should give to its producers to deter the entry 
of Country Y in the international market? Is this subsidy justifiable given that Country Y 
is incumbent in the market? Discuss 

  Country X 
  Launch Do not launch 

Country Y 
Launch (-10,-10) (150,0) 
Do not launch (0,150) (0,0) 



(a) दो देश A और B पांच वèतओुं का उ×पादन करते हɇ। Įम उ×पादन का एकमात्र कारक 
है। दोनɉ देशɉ मɅ पाँच वèतुओ ंमɅ से प्र×येक के िलए इकाई Įम आवæयकताए ँनीचे दी गई 
हɇ: 

 वèत ु  देश A मɅ Įम इकाई आवæयकता देश B मɅ Įम इकाई आवæयकता 
Apple  10 8 
Wheat 2 20 
Cloth 5 15 
Dates 3 24 
Cement  5 10 

 

देश A मɅ सापेिक्षक मजदरूी देश B की मजदरूी की पांच गुना है जो िक åयापार लागत की 
अनुपिèथित मɅ दोनɉ देशɉ के बीच åयापार के पटैनर् का िनधार्रण करता है। यिद 100 
प्रितशत åयापार की लागत को  गेहंू और कपड़ ेकी कीमतɉ मɅ जोड़ा जाता है तो åयापार 
पैटनर् िकस प्रकार बदलता है? 

 

(b) देश X, जो िक èमाटर्फोन बाजार मɅ एक नवागतुंक है, अपने नए èमाटर्फोन को अतंरार्çट्रीय 
बाजार मɅ लॉÛच करने की योजना बना रहा है। हालांिक, यह एक खतरा है िक कंट्री Y (जो 
िक एक अवलबंी है) एक समान èमाटर्फोन लॉÛच कर सकता है और अतंरार्çट्रीय बाजार पर 
कÞजा कर सकता है। िनàनिलिखत मिैट्रक्स èमाटर्फोन को लॉÛच करन ेके िलए दोनɉ देशɉ 
के भगुतान को दशार्ता है। अतंरार्çट्रीय बाजार मɅ कंट्री Y के प्रवेश को रोकन ेके िलए कंट्री 
X को अपन ेउ×पादकɉ को िकतनी सिÞसडी देनी चािहए? बाजार मɅ Y देश के एक अवलबंी 
देश होन ेकी िèथित मɅ क्या यह सिÞसडी Ûयायोिचत है? चचार् करɅ।  

  देश  X 
  लॉÛच करता है  लॉÛच नहीं करता है 

देश Y 
लॉÛच करता है (-10,-10) (150,0) 

लॉÛच नहीं करता है (0,150) (0,0) 

 
3. (a) Narrowland, Broadland and Wideland are the only three laptop producing countries in 

the world. The three countries have the same production technology for every firm, and 
face the same demand conditions. The annual sales of Narrowland, Broadland and 
Wideland are 100000, 900000, and 400000 laptops respectively. Fixed cost and marginal 
cost of production of laptops for each firm in each country are 10000 and 1000 respectively; 



and the degree of responsiveness of each firm’s sales to its price, vis-à-vis other firms is 
1/10. (i) Calculate the equilibrium number of firms in the three countries before trade. (ii) 
What is the equilibrium price in these countries under autarky? (iii) Calculate the total 
number of firms after the economies are opened up to trade and the equilibrium price. (iv) 
How will your answer to the above parts change if the marginal cost of production of laptop 
for every firm increases to 2000?  
(b) A country produces two goods: Cars (using labour and machines) and Microchips 
(using labour and computers). There is an exogenous increase in demand for microchips in 
the world market. Explain income distribution effects of this change with the help of a 
diagram.  

(a) नैरोलɇड, ब्रॉडलɇड और वाइडलɇड दिुनया मɅ केवल तीन लपैटॉप उ×पादक देश हɇ। तीनɉ देशɉ 
मɅ हर फमर् के िलए एक ही उ×पादन तकनीक है, और एक समान मागं की िèथित है। 
नैरोलɇड, ब्रॉडलɇड और वाइडलɇड की वािषर्क िबक्री क्रमशः 100000, 900000 और 400000 
लैपटॉप हɇ। प्र×येक देश मɅ प्र×येक फमर् के िलए लपैटॉप के उ×पादन की िनिæचत लागत 
और सीमातं लागत क्रमशः 10000 और 1000 हɇ और प्र×येक फमर् की कीमत के िलए िबक्री 
की अनिुक्रयाशीलता की िडग्री, अÛय कंपिनयɉ की तलुना मɅ 1/10 है। 
(i) åयापार से पहले तीनɉ देशɉ मɅ साàय मɅ कंपिनयɉ की सखं्या की गणना करɅ। (ii) आ×म-
िनभर्रता की िèथित मɅ इन देशɉ मɅ सतंुलन की क्या कीमत है? (iii) अथर्åयवèथाओं के बीच 
åयापार खुलने के बाद कंपिनयɉ की कुल सखं्या और सतंुलन की कीमत की गणना करɅ 
(फमɟ की नीचे की तरफ िनकटतम पूणर् सखं्या) । (iv) उपरोक्त फमɟ के िलए यिद हर 
फमर् के िलए लपैटॉप के उ×पादन की सीमांत लागत 2000 तक बढ़ जाती है तो आपका 
उƣर कैसे पिरवितर्त होगा? 

(b) एक देश दो वèतओु:ं कारɅ (Įम और मशीनɉ का उपयोग कर के) और माइक्रोिचÜस 
(Įम और कंÜयूटर का उपयोग कर के) का उ×पादन करता है । िवæव बाजार मɅ माइक्रोिचÜस 
की मांग मɅ भारी वɮृिध होती है। आरेख की सहायता से इस पिरवतर्न के आय िवतरण पर 
प्रभाव की åयाख्या करɅ। 

4. (a) Pinkland and Blueland are two countries producing earphones, having the following 
demand and supply conditions:  

Pinkland:  DD: Qd = 100-20P 
SS: Qs = 20+20P 

Blueland:  DD: Qd = 80-20P 
SS: Qs = 40+20P 



(i) Given this information, what will be the world equilibrium price and quantity 
traded?  

(ii) Given that the fixed cost of setting up a production chain of earphones by exporting 
country in importing country is $15, and the cost of transportation is $0.5 per 
earphone exported, which mode the exporting country will prefer and why: 
exporting earphones or producing earphones in importing country itself? Give 
reasons for your answer. 

(b) An importer in India buys mobile phones from the US and sells them in the domestic 
market. The current spot exchange rate between India and the US is Rs. 5000 for $100. The 
importer can sell each phone in the domestic market for Rs. 15000, while his current 
purchase price is $200 per phone. However, he does not have ready cash to pay until the 
shipment arrives but by then the rupee depreciates such that he incurs a loss of Rs 200 per 
phone. Calculate the new exchange rate.  

             (a) िपकंलɇड और Þललुɇड दो देश हɇ जो आकणर्कɉ का उ×पादन कर रहे हɇ, िजनकी    
 मांग और आपिूतर् की िèथित इस प्रकार है: 

  िपकंलɇड: DD: Qd = 100-20P 

SS: Qs = 20+20P 

     Þललुɇड: DD: Qd = 80-20P 

SS: Qs = 40+20P 

    (i) इस जानकारी के मɮदेनजर,िवæव सतंुलन मãूय और åयापार की मात्रा ज्ञात 
 कीिजये? 
    (ii) इस बात के मɮदेनजर िक िनयार्तक देश के िलए आयात करने वाले देशɉ मɅ 
 आकणर्कɉ की उ×पादन Įृखंला èथािपत करने की िनधार्िरत लागत $15 है, 
 और िनयार्त की पिरवहन की लागत $0.5 प्रित आकणर्क है, िनयार्तक देश क्या 
 करना पसदं करेगा और क्यɉ: आकणर्कɉ का िनयार्त या आयात करन ेवाले  देशɉ मɅ 
 आकणर्कɉ का उ×पादन? अपने जवाब के िलए कारण दीिजये। 

 

(b) भारत मɅ एक आयातक अमेिरका से मोबाइल फोन खरीदता है और उÛहɅ घरेलू बाजार 
मɅ बेचता है। भारत और अमेिरका के बीच वतर्मान èपॉट िविनमय दर $ 100 के िलए ǽ. 
5000 है। आयातक घरेल ूबाजार मɅ प्र×येक फोन को 15000 ǽपये मɅ बेच सकता है। जबिक 
उसकी वतर्मान खरीद मãूय 200 डॉलर प्रित फोन है। हालाँिक, उसके पास िशपमɅट के आने 



तक भगुतान करन ेके िलए नकदी नही ंहै, लेिकन िशपमɅट के आन ेतक ǽपये का इतना 
अवमãूयन हो जाता है िक उसे प्रित फोन 200 ǽपये का नुकसान उठाना पड़ता है। नई 
िविनमय दर की गणना करɅ। 
 
 

5. (a) An imaginary open economy Azaria operates at full employment in the short run but 
finds a temporary increase in the demand for its output in the world market. What policy 
options does it have to return to full employment? How is the exchange rate affected? 
(b) Monetary authorities decide to merge many commercial banks into four or five large 
banks. Assess the efficacy of this policy. 
(c) Bring out the difference between perfect asset substitutability and imperfect asset 
substitutability in an open economy. The Central Bank of Hippoland undertakes a sterilized 
purchase of foreign assets. With the help of diagrams, compare and explain the outcome of 
the same under the assumptions of perfect and imperfect asset substitutability.  

(a) एक काãपिनक खुली अथर्åयवèथा अजिरया कम समय मɅ पूणर् रोजगार की िèथित मɅ 
है लेिकन िवæव बाजार मɅ इसके उ×पादन की मांग मɅ अèथायी वɮृिध हो जाती है। पूणर् 
रोजगार की िèथित मɅ वािपस लौटने के िलए इसके पास कौन से नीित िवकãप हɇ? िविनमय 
दर कैसे प्रभािवत होती है? 

(b) मौिद्रक प्रािधकरण कई वािणिÏयक बɇकɉ को चार या पाचँ बड़ ेबɇकɉ मɅ िवलय करन ेका 
िनणर्य लेते हɇ। इस नीित की प्रभावकािरता का आकलन करɅ। 
(c) एक खुली अथर्åयवèथा मɅ पूणर् पिरसपंिƣ प्रितèथापन और अपूणर् पिरसपंिƣ प्रितèथापन 
के बीच अतंर कीिजये। िहÜपोलɇड केÛद्रीय बɇक न ेिवदेशी सपंिƣयɉ की एक िनजर्लीक्रत खरीद 
की है। आरेखɉ की सहायता से, पूणर् और अपूणर् सपंिƣ प्रितèथापन की माÛयताओ ंके तहत 
इसके पिरणाम की तुलना और åयाख्या करɅ। 
 

6. (a) Discuss the efficacy of fiscal and monetary policies under a fixed exchange rate regime, 
characterized by perfect capital mobility, using AA-DD diagram. 
(b) Firms exporting to Agriland are not willing to change prices despite a nominal exchange 
rate depreciation in Agriland. How do you explain this phenomenon? Do you think that the 
firms exporting to Agriland will behave in a similar manner if there was an exchange rate 
appreciation in Agriland? Explain.  
(c) Should the governments be concerned beyond the soundness of individual financial 
institutions? What is your opinion in this regard in the context of the changing international 
regulatory environment? 



(a) पूणर् पूजंी गितशीलता की िèथित मɅ एए-डीडी आरेख का उपयोग करके एक िनिæचत 
िविनमय दर पɮयित के तहत राजकोषीय और मौिद्रक नीितयɉ की प्रभावकािरता पर चचार् 
करɅ ।  

(b) एग्रैलɇड को िनयार्त करने वाली फ़मɏ एग्रलɇड मɅ मामलूी िविनमय दर मãूयıास के बावजूद 
अपनी कीमतɉ मɅ पिरवतर्न की इÍछुक नहीं हɇ। आप इस घटना को कैसे समझात ेहɇ? क्या 
आपको लगता है िक एग्रीलɇड को िनयार्त करने वाली फ़मɏ एग्रीलɇड की िविनमय दर 
अिभमãूयन की िèथित मे भी इसी तरह से åयवहार करɅगी? समझाइए।  

(c) क्या सरकारɉ को åयिक्तगत िवƣीय सèंथानɉ की सǺुढ़ता से परे िचिंतत होना चािहए? 

बदलत ेअंतरराçट्रीय िनयामक पयार्वरण के सदंभर् मɅ इस सबंधं मɅ आपकी क्या राय है? 

 

 

 


